RESOLUTION NO. 46-22

A RESOLUTION APPROVING THE PURCHASE OF AN OUTDOOR EMERGENCY SIREN

WHEREAS, the Village of Chatham ("Village") is an Illinois Municipal Corporation existing and operating under the Illinois Municipal Code and the laws of the State of Illinois; and

WHEREAS, the Village has utilized Global Technical Systems, Inc. to install several emergency sirens (commonly referred to as air-raid or tornado sirens) throughout the Village; and,

WHEREAS, the Village wishes to install two additional sirens to better warn its citizens of emergencies; and,

WHEREAS, purchasing the additional sirens from Global Technical Systems, Inc. would allow said sirens to be compatible with and link to the current existing sirens; and,

WHEREAS, Global Technical Systems, Inc. submitted a quote for a total of \$73,588.60 as further set forth in the Quote attached hereto as **Exhibit A**; and,

WHEREAS, due to the unique and specialized nature of the equipment and compatibility with the Village's current infrastructure, the Village Board of Trustees has determined it to be in the best interest of the Village to waive any bidding requirements and purchase the equipment as set forth herein.

NOW THEREFORE, BE IT RESOLVED by the President and Board of Trustees of the Village of Chatham, Sangamon County, Illinois, as follows:

- **Section 1.** Recitals. The foregoing recitals shall be and are hereby incorporated into and made a part of this Resolution as if fully set forth in this Section 1.
- Section 2. <u>Approval of Purchase</u>. The Village Board of Trustees hereby approves the purchase of emergency sirens from Global Technical Systems, Inc. as set forth in the Quote attached hereto as **Exhibit A**.

Section 3. Effective Date. This Resolution shall be in full force and effect from and after its passage and approval.

	AYE	NAY	ABSTAIN	ABSENT
KRISTEN CHIARO	V			
MEREDITH FERGUSON				
JOHN FLETCHER	V			
BRETT GERGER	2 2			1
TIM NICE	V			
CARL TRY	V			
DAVE KIMSEY				
TOTAL	5	3	0	1

APPROVED by the P	resident of the Village of Chatham, Illinois this 26 day of
July , 2022.	TOLCI
	Dave Kimsey, Village President

Dan Holden, Village Clerk

EXHIBIT A Global Technical Systems, Inc. Quote



QUOTATION

PREPARED FOR: Village of Chatham

Patrick McCarthy 116 E Mulberry Street Chatham, IL 62629

QUOTE NUMBER: 140002198

QUOTE DATE: 07/12/2022 QUOTE EXPIRES: 08/11/2022

PAGE NUMBER: 1

PHONE:

FAX:

EMAIL:

TERMS: Net 30

PREPARED BY: Jacksonville/Ragle/Cody

EMAIL: PHONE: FAX:

SCOPE OF WORK: 2 VORTEX R4 SIRENS

QTY	DESCRIPTION	UNIT PRICE	EXTENDED
2	WHELEN R4 VORTEX SERIES SIREN	19,167.23	38,334.46
2	WHELEN SIREN SPEAKER POLE TOP MOUNTING BRACKET	693.00	1,386.00
2	GTSI SIREN/RADIO VHF 2-WAY CONTROLLER	1,730.00	3,460.00
4	DEKA BATTERY	190.37	761.48
2	WHELEN INSTALLATION KIT	475.00	950.00
2	BRIDGEWELL CLASS 2 60 FT WOODEN POLE	7,858.33	15,716.66
1	LABOR	11,130.00	11,130.00
1	FREIGHT	1,850.00	1,850.00

SUBTOTAL:	\$73,588.60
SALES TAX:	\$0.00
QUOTE TOTAL:	\$73,588.60

OFFERED BY:	ACCEPTED BY:		

Payment terms are as set forth above, where satisfactory open account credit is established. Purchaser agrees to pay each invoice when due. A 3% convenience fee will be added to all credit/debit.

In the event payment is not received according to the above terms, GTSI may, at its discression, assess interest at a rate of 2% per month or the maximum rate allowed by law. Purchaser also agrees to pay resonable legal fees or agency commissions sustained by GTSI in pursuit of payment which is past due. Sales Tax rate is assumed and may appear differently on invoice. If sales tax exempt, purchaser must provide GTSI with a tax exemption certificate acceptable to the relevant taxing authority. Illinois Telecommunications Excise Tax may apply and will appear on invoice. This document is to be considered proprietary and confidential information between the party listed above and GTSI.